MATHEMATICS TEST D m

|Pupi|'s Name | |Date of Test |
DATE OF BIRTH
| School Name | Day Month Year
PUPIL NUMBER SCHOOL NUMBER |

[0] [0]| January = 1990 =

[11 [1]| February —_ 1991 =

O O O O o [ O [© © [0 [© 0 O [@& @]Mrch =] 192 =

oy o oo oo oy o1y o onoronrone o [3] [3]| April | 1993 &

21 2 [2 21 2 [ 21 @ [2 2 @2 [2 [2 [4]| May | 1994 4

Please mark B B BB R e B BB R B e 6 [5] | June 0| 1995 &

H H M4 [41 [4 [ M M@ 41 [41 [4 [ [ [41 1[4 [6] | July | 1996 =

like this =. Bl (5 (5] [5 8] [5] 5] 151 (5] [5] 5] [5] [5] 7] August = | 1997 =

[61 (61 [6] [6] [6] [6] [6] [61 [6] [6] [6] [6] [6] [8] | September 1| 1998

7 mmm 7w ommm m [9] | October | 1999 &4

[8] [8] (8 1[8 [8] 1[8] [8] [8] [8 18 [8 [8] [8] November [ 2000 —

9 © © [© [9 I[9] @ [© [9 9 [©@ [° I[9 December 1 | 2001 =
4590 1 30 1 A 5 07:45 1
4600 60 1 B 4 18:45
4580 230 C = 11 3 06:45 1
4500 — 220 D 3 17:45
4509 260 1 E O 8 1 18:15
Thirty thousand 42 3 A £6.75 1 6,3 —
Thirty =3 8 B £5.40 — (5.5,4) =
Three 3 42 C £6.85 1 (5.5,3
Three hundred I 2 1 D = £8.20 3,6) —
Three thousand 1 8.4 E £8.10 (5.5,3.5)

10 0°C Rand T 3 035 228 [ 120ml 3
9 -3°C PandS 3 0.325 252 110ml 3
21 -4°C PandQ 3 032 ™ 198 300 ml —
7 3 1°C = SandT 03 321 125ml
14 3 -1°C 3 QandS 0.333 306 200ml 3
14,800 3 737.0 9 O 3m 0.08 4
28,600 7 3 10 330cm 2.09% [ 5 I
14,600 3 736.7 12 3000 mm /20 3 6
32,000 — 736.6 13 300 mm —I 24% — 7
29,600 73 14 3mi0cm 3 025 ™ 9 I
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033 63p A £40 I A O 5 [
0.36 61p B £42 B 23
36 58p C £42.42 C = 13 3
0.35 73p 1 D £46.20 D 3
03 3 45p 1 E £462 1 E 1y 3
7 1 90 minutes 0 A 16 minutes —I (-3,-2) =
8 1| [105 minutes 1 O3 B 10 minutes (-2,3)
9 96 minutes 1 2 3 C O 9 minutes (-2,-3)
10 1| [100 minutes 3 1 D = 18 minutes (-2,-2) =
11 3 88 minutes I 4 E O 14 minutes I (3,-2) =
27 1 36 1 13 3| |a=4andb=3 [ 45%
18 24 1 5 1| |a=5andb=2 I 42.5% 1
20 = 12 3 s 3| |la=4andb=4 32%
36 1 32 37 | |a=6andb=1 [ 50% =
19 28 [ 2;7 3| |a=3andb=3 [ 40% —
1.45kg 77 3 A 8xy 15 mm? I
1.8kg 15 3 B 8+x+y 18 mm?
1.25kg 1 35 1 C 8x+8y 150 mm?
095kg 21 D = 8x+y 180 mm? 3
1.75kg 63 E x+y+16 1500 mm?
1.03 ounces 1 40° A 19m 3 A 4
2.44 ounces 1 25° 1 B 1.5m 3 B 6 1
2.34 ounces I 60° I C O 1.6m 1 C O 11 3
1.59 ounces 1 75° D 1.3m D = 3 1
2.26 ounces 1 80° E 1.4m E O 5 3
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